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ZLERAEL | SR | ERAR DREBFE | BEANE | R | BEAE | mRENE| B
R54EE 656 247 413 133 186 14 60 20 1,711
R4 641 298 455 150 187 18 77 4 1,831
R34EE 694 314 495 162 163 20 82 71 1,937
R24EE 676 346 442 148 75 89 11| 1,787
R14EE 821 365 496 106 82 82 12| 1,964
FERIRRE S = D RER

LR | &F+HER | EEE RH B HE&t

R54EE 819 455 255 186| 1,715
R44EE 935 512 178 206/ 1,831
R34EE 953 527 222 235 1,937
R24F % 850 500 206 231 1,787
R14EE 932 614 181 237 1,964
FERINEZDEBRH FRIAIREERE
R54EE 1,200 RAEJE 134
R44E 1,088 R4 205
R34EE 1,203 R34 291
R24E 1,344 R4 544
RI14EE 1,400 R14FJE 704
ERFEHEZOAR

NAMRE | HhEDE|aes. tes| B TRRE| TOM |FHERH
R54EE 5 3 6 17 10 41
R4 3 3 6 26 8 46
R34 1 5 5 21 3 35
R24EJE 8 0 2 32 11 53
RI4EE 34 4 4 24 3 69




